Boullet No. ;

A
SET EC - 16

Electronics & Communication Engineering

Duration of Test : 2 Hours Max, Varks - 120

Hall Ticket No. | : |

Name of the Candidate : S - o
Date of Examination : ENVIR Answer Sheel Mo e
Sianature of the Candidate Suwnature of the Invigilaton

INSTRUCTIONS

Thus Question: Booklet consists of 120 multiple chioce objective type questions o be answerad
1o 120 nunures

2 Every guestionin this booklet by 4 choices marked e 1B oChand (Do for sty answeer,

)

4+ This Bookleiconsists af 16 pages. Any Jiscrepane v or aney Zofectis foond. the sae miav be
Intormmed (oo the Inviadater for replacement of Bonklet.

]

Answer all the gquestons on the OMR Answer Sheet using Blue Black hall point pen only,

o Beture answenng the guestions on the OMER Answer Sheet, please read the instructions printed
ot the OMR sheet caretully,

OMR Answer Sheet should be handed over to the Invigilator betore leavine the Exanunation
Bl

8 Cabeufarors, Pagers, Mobile Phones, et are notallimved into the Examimaton Hall
Y Nopart af the Booklet should be detached under any circumstance s

Y The seal of the Booklet should be epened cnly atier signal/hell 1s given,

ecao-A L IINIRIINT

collegedunia:

India’s largest Student Review Platform




rh

(iR

St -

PLLLEL DIRUPINIU DY o LUXNIAILE NIV A TV O INILILEN I (10 )

F 1 A

The sum ot the cigen values of the nwnx A=+ 4 2 110sequal o
-4 4 3

1Ay 6 (B} 8§ (Cy 0 |

"=
g

It the rank of the marix: A=) 0 2 ~]|i52then =

LY (By 8 i ' 1 Ih

L2
* A

The tunction flav)=a" = v +06x+4 12 bos mimnwn sclue ot the pomt

LAY =3.0) (By 130 1y 0.1 Dy L
a7 a ot L i i -
If ="~ 5== _"r— and 1 = ———_ then 1 the sadidle pooat the [uncion FOy o satisty
A ey dy”
| -IH.I| - ."|'-I = rl " -|: S - {:,
|{:'I, "5 .1|': [y “ i I'-l_. ' | 0

It #i-) s analvtic withun and on a closed curnve " und o 1 any peint witlun O then the

| Lfiz) ;
il e G}‘_'"—..-i"_: where s egual to
K o7 =
1 | _ B -
Iy = (B) = (C) =1 (I 2
h '..‘l"fT ey
A random variable X has probabulity dewsity function fixy=&xe ' x20 then & =
i i - 1
I A) : 1By 2 o)A (D) =
e
It the coethicient of correlation 1s (0938, then the variables are
LAY Negativelv correlated 1By Weak positively correlated
(CH Strong posttively correlated (I Uncorrelated
- : v s .
Tl vrder of the differenial equation | Tt Ea
LAy ] |\BY 6 (Cy 2 (L 1/3
A 2 EC
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An integrating faclorof AV +yv=21'y

=l |
A AT By o' i) i (T

Which one of the tollowng is a scries meikod !
1A Proards Method By  Euler nxethod
1CE Milne Method (D) Runge Kutta Methed

Tl unpulse response ot wn LTI system s given by Afn) = 26[n = 20]. Deternune the
output y|n| o the input 15 x|n) = n-.

(A (n= 207 (By 28[n* = 20| (CYy Z(n - 20)- (DY 2800 - 21|

The mput output relationshap of u system s coven by vl | = cos [xint L The svstem 1
1A limear and invertible V14 linear amd o nvertible
1T non-linear and invertible i1y nen-linew amd cop-ipventihle

Tl Fourler series coefficients of a perrodie signal a0t ) with time pernod 7 oare X, Find the
sienal v(t) whose Fourier series coctheicnts are cnven by ¥oo= 2X and time period 1
T/5.

1A vie) = 2x(5t) 'K vitl = 2e(t/5)

1L v{r) = x{10t) W[y oyle) = 2x(2:/5)

Chaose the false statement.
A nd(n)=0 By winmi =% __dk)
I oln) =30 ulk) (D n=din =2) =48 =2|

The sionals x, (t) end x,(r) are both bapd-limited to (—ew,, +w,) and (—w,, +ew,)
respectivelv. The Nyquist saimplme rate for the signal x {2)x,(t) will be
1A) 2w b ) > sy By 2wottw < ws

. . ly b
Wt 20w, + ars) Dy ——
The response of an LT] discrete-time svstem to . penodic input with peried V is
LA ot pertodic, (B)  pertodic havies a perind V.
(T perodie having a perid 2N (D} pertodic havieg a period N /2.
Tlie step response of an LTT syslem whose mnpulse response (i) = u(n) is
(AT tn+ 1uin By me(n)

1 tn = 1ludn (I wtuin)

It the Fournier series coetticients of a signal are penodic. then the signal must be

1) continpous-time. periodie. (B)  diserete-time. period.
11 conunueus-time, non-peniodic. (I discrete-tume, non-periodic.
A 3 EC
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LeD Ay TePIesent (e JISsCrele-ume rouner Series (LIrd) on2Mrcicnts ol e periodals
sequence xyn) with perien] N. The DTES coefficients of the sigral 1 = 1Y v {n) n termis of

X, are

A o B X (C) X & Dy X &
k+= e

The Fourter transtorm of the exponential signal e/=" is

1A} aconstant (B} arectangular pulse

1O an imipulse (D wserses of impulses

The frequency response of a system with Aln) = &(n) — &(n — 1) qven by
LAY ] — 6w —1) By 1—em
|{‘| Wl — h‘[rn,l — [j il froiisy

The ROC of a causal finite-duration discreto-lime sional 1
IA)  the entire z-plane except 2 =0 [y the entire z-plinc except z = =
(1 the entire z-plane 0V armg inthe z-plane

Linear phase systems have u constant
1A} phase VB group Jelay
1C1 magnitude D pluise and magtude

In an N-point DFT of a finite duration stana o 2y ol lenoth (0 the s cue of N o<hoold be
I Nz L IBY N =20 WY N REL I N =1

The algorithm used o compute any sot of equaily ~paced ~amples of Fourer wanstoin on
the unit circle Is

1A} DFT slgorithm (B) FFT algorithm
1C+ Goertrel algonthm (D Chirp trmsform aloorithm

Total number of complex multipheattons required in radix -2 DIT-FFT algorithn s

*

IAY Nlop. N By = log, N
ICt Nlog.> (T = lugz'ﬁ.:

The steady-state ervor of u feedback control system with an acceleraion wput becomes

firite 10 a

A tvpe O system (B tvpe | svstem
1T tvpe 2 system (D tvpe 3 svdlem

g (% i i Kis+35)
Considering the root locus dugram tor g svstemowith G{s) = . the

Sis+AlisHAsT st
neting pomt of the asymptotes on the real axis occurs m

A =12 (B) -85 (C) -1.05 (M 075
B, 1 EC
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———— then the
]

It Tor o control system the Laplace transtorm of error o{f) 1+ given us

.‘-ik‘;l\_{:\' state value of the error works out as

;.5 IB1 L8 G 2 (Dy 2.4

The equation 25% + 5% 4 355+ 554+ 10 =0 has roots in the keft half of
s—plane.

(A one (Bl two (Cy thwee Dy fows

Given p umity feedback control systent with Gis) = the value of K tor a damping

sis+a)
ratie of 0.3 15
LAY (B) 16 oy A2 Iy o
The mput to a controller is
1A) sensed signal vy desired wannable value
1Ct error signal I3 serveosignal

It the Nyquist plot of the Inap transter furcuon G« /71 of @ closed-loop system encloses
the (=1, jO) point in the G{s)H (s) plane. the gain murgin of 1he systen:
1) rero 1By precter than zerie

1+ less than zero VD infmity

The transter function of » phase-lead ontroller 1s given by

) —=Za»1, T >0 M) oL TN
(Cl 1_11 %ty T (D ._:__Ti,u et T

A system with gain margin clo~c to unity or a phase margin close o zero s
1A)  haghlv stable By oscillaory
(C1 o relatively stable T unstable

Pesk overshool of step-mput response of an underdamped second-order sysiem s
exphonly mdwative of

1A settling tie (B)  rise time
1Ct o natural frequency (D1 damping ratin

It the systemr matnix of @ lmear ume variant conbpuous system 1s gnven by

di= ‘ U_ _ |- s characterstic egquation s aiven by
=3 =5 : )
1Al sT+S5s+3=0 (B} s°—35—5=0
1ICt s°+35+5=0 (D s°+2s+2=0
A 5 EC
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(A dues at low frequencies and leads ot Bigh srequencies refative te tnput
(Bt Jeads at low frequencies and kacs at hieh eguens les relative o iput
(O faes at all frequencies relative to iput
(D Jeads at all frequencics relaiive to wmput

3. The Bade plot ot the transfer function Gis) = s 13
1A} constant magnnude and constant phase shitt angle
1By .20 dB/decade and constani phase shift angle
1 20 dB/decade and phase shift of /2
(I 7ere magnitude and phase shit:

40, The stae-variable description of a incar cutononieds stsienn = ¥ = A0 where N hw
dmmensional state vector and A s a matrs given by 4 = ]; .J The poles v the system
arce located at
LAYy —Yand £2 i1 H

1Cr -2and -2 D

41, 23 vowe channels (4 KHz bandwidth) e sampied of 8 nmes the Nyguest rate ano
multiplexed, Each voice channel 5 debo mwoduleed. 1 Poois alded per mrame o
transnntling control information. What 1s the Jata rate of transmission
A LAD0 Mbps By 153 M

1O 2H4S Mbps V3 1aa6 Mbps

42, The characteristic 1 the channel resembles the tler sheav o the ficwe b Find the the
defay ot the channel.

AN e

Fizure |

] _ X e i f
IA) .- tan 3 : By lmtan | o —
B E WS al
] X ' g
(| 7 tan "1 2RO (D} 24 1lan" (2g9RC)
43, Let X be o continuous random varnable with umitorm PDE defined by f (4 )= —; far
0 <2 < 2 amd rero elsewhere. Find @
i kol . g . iy
1A) = By - €y —= (m» =
&l i LTI \-I{T
Set-| A f EC
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LAY ensemble averuge equal to time average

(Bt all the stansteal properires dependent on time
L all the statistreul properties incependent of Line
(D zero mean and zero variance

In a modulator. it s found that the ampintude spectrum of the sigral @t the output of the
medufator consists of & component/_. the carrier freguency and one component cach at
fot feand fo= f o where £ s the modilatmy signal fregquency. The medulator used s

LI J

1A) S5HB By PAM (C) PCM (D AM

Aosignal X(t) =deos2mfit + 2eosdn; ¢+ milir cosZafooas apphed o the sastem
shown n Figure 20 What will be ¥(e1

Mty _.,_{;':,_ ,_1— l L

2Co=2n
Figure 2
1Ay 4m(t) cosdmf.t B tcosdmfr
1 4+ m(o) Dy i

The power of an FAM modulated siapal wih modubinon index £ ol curer clr] =
Acos2rftis

LAY 1— iB) —_(1+i)

& Alyad) Dy A (1+L)

It a Gaussan process X(&) 15 applied w the stoble linear filter. ther the random pro.ess
developed at the output of the filter wil! he

1A Uniform (B) Exponcntial
(C1 Gaussian (D) Ravleizh

Binarv  duta s tramsmutted  wsing PSK o signaling  scheme  withS (1) = ACosw 1.
Sy ==ACosw ¢ 0 2 Te where bit durition T- is egqual to 0.2 ns. The carerer frequency
s [ =37 . The carrier amphitude at the receiver input 1s 1V and the power spectral

density of the AWGN @t the input is 10" WiHz. The probability of error for the optinwm
flter will be

1A erfcd 3.5 By [.5ertetd (C) ﬂ.ﬁﬂ'l‘!—f:[w‘.‘rﬁl (D I_‘[‘E_L'I'\f._‘..‘,g]
A ? EC
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O SR s E W R By Laavi=H{n-H(/4)
Cr Hivvr=HMHixd v+ Hiy) AN v =Hog-Hivix
51, The SSB.SC 15 used tor the following apphcation
1Ay Rade Broadeasting (B)  Pomt to pont communication
1CH Tekegraphy and Telephomn: (D) TV transnuttes
52, What does a Ingic | Delia Modulation (DAL bt indwate
1AL The nwessage signal's amplitude 1s decreasing,
(Bt The teedback sional's amplitude s greater than the message signals anplicude.
1Ct The teedback signal's amplitude is const.nl
D)) The feedback signal's amplitude is los< thin the mee<cage <ogral < amplind,
- . LRy . . .
5} The asymplotic value of % required to achicyve the Jota rate eqgual o the channel

capacity when the channe! bandwidth ten.s o mtininy -+ eqgual 1o
1Ay ~1.6dB (By -3dB Oy 0dB VDN ot

54, The polden rule for encoding messages with unegu.l probabilities s 1o
A)  Encode a message with high probab:iiny by o loneer code word
1Bt Lncode all messages with equal lencth code.
1Ct  Encode a message with high probabilie hy o <Borter code wond
1Dy Encode o message by arbstrary choosing vanable lengil: codes

. The output Signal 1o Noise Ratio. (SNR), o matched Gilier depends only on
A)  ratw of Input noisc o outpul noise.
1B ratwo of output nosse to power spectral densiy of white noise at input.
1CH ratio of siomal energy to power speciral density of white roese at put.
1 correlation of mput <ignal to sutput signal.

1
rh

6. In mullipte access s achieved by allecatmg Jifferent ume slets o
the ditterent users.
rAL  TDMA 1By CDMA (C)  FDMA (D) FGMA

57, Cellular CDMA system uses what medulation method !
1AL GESK IB)  ASK (C) QAM (D) BPSK

3. The only ane sianal wavetorm that produces zera inter symbol interferernce (150 1s
1A} sinf(2B,t) 1By cos{2B t)  (C) sine(28,t) Dy sin{B,t)

39, The length of antenna depends on
LAY wavelenath of radistion (B} current distribution
1Ct angle of radiation (I3} area of cross-section
Set-| A b EC
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tAY The maximum radistion sccurs perpendictlar to the line of the aray oL ¢ = 90
Bt The progressive phase shift (a) betw.cen clementsis soro.

(Cr Widih of principal lobe 15 less than tha: of un end nre array.

1D The masnnum radiation ocours along the lioe of array at ¢ = 07,

The phase velocity of waves poopagating in a hollow metal waveguide s
(A} greater than the veloeity of light m free space

181 less than the velocity of light i tree space

1C equal o the velocy of light in free spuce

1 equal to the group velocity

It the diameter of a A/ 2 dipole anteniu is mereased from A0 ToD o 2 750 then its
1A handwidth increases R handw idth decreases
1CH sain wncreases e e decrcases

The directive gain cannos be staied a-

(A the ratio of the radiation mtensity in that direction Lo the average radiated pover
1Bt the function of angles

(Ct  the directivity of an antenna when dircctive coin - maxiiom

1Dy ndependent of angles

An electromagnetic wave has electnie ficld component alons Y-dirccton and magoctie
treld component alone X-direction. The electronuionetic wove is propagating wlong

1Ay Z-direction (By X-duection

(Cy Y-direction (DY XY -diecuon

The lower cot-off frequency of a rectangular wuve gunde with mnside  dimensions
L3 % 4.3 cnn operating at 0 GHy 1

1AL 10 GHz 1B} 9Gliz iC) — GHz D)y *?GHz

During night which faver does not exist?
(A D laver 1By F. layer (C)  F: lave (D) E fuyer

The domunant nywede of reclangular waveguide is

14 Tk, By TN, (C) o Thy, (Dy TE,,

Vector potentiad 15 a vector

LAY whose curl is equal to the magnetic Hlux density
(Bt whose curl s equal to the electrie field mntensity
1CH whose divergence 1s equal to the elecinic potentinl
1Dy which 1s equal to the vector product ExH

A 9 EC
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refractive idex of the glass slab is 150 then the percentage of the merdent power that 1=
reflected from the air-elass interface is

rAy D4 1By 4% (Cy 207, (Dy  10%

70, In an mmpedance Snuth clhirt. a vlockwise movement along a constant resistance circle
QIVES T2 o
LA} adecrease in the value of reactance
(B1  anmncrease in the vl of reactance
1ICH oo change i the reactance value
(D oo change i the impedance value

7l. The value of “Z,." for the circuit shown bebow

U g I
ﬂ el
s (=]
o = T
1197,
LA 49 Ohms i K 12 € Hims
Cr 411 Ohms IV 944 Ohims

12 Two voltage sources, connected 10 parallel as shown m the beloow tgure, must satisty il

conditrns

—OR AN
O

Iy v, =v-bhutr, = LY vi=voand ryzrs
(Ct vo=veand ro=rs IV AN er 20 vizvs

73 Acomposte voltage V = [0 sinl0h + 10 cos 00t 15 apphed across o series combinaion of
a capacnor of [yt and resistance of 20 K€, The average pov.or dissipation i ibe resistance

Hl

LAY SmW (By 25mW () 2.3mW (D) 1.23mW

. . ¥+ _1.'5' = :
4. The dnving pomnt impedance tunction Zis 1 = ——————can be reialized

R

LA R-C Network (B R-L Network

1IC1 L-C Network (Dy R-L-C Network
Set-| A 10 EC
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voltage that can be applied continuously to the sciwes cirout witheut oxcecding the povier
it of any of the resistors s
tA) woN 1By 50V (Cr 45y (Dy 40V

76.  The Thevenin's equivalent circun 1o the teft of AB in figure shown has & 15 arven by

192 v
=B SERS y
1 " i I.
_' :—:_‘:H"l ::_.-_iul X F{4:-:5
I
A HAOhms By 372 Ohms i Ohs &3 T g & Thes

77, Under steady state condition
1A} Inductor acts as short and Capaoitor aots as open
1Bt Inductor acts as open and Capacitar w0 as apen
1Cy Inductor acts as open and Cipacilor wois as s
1Dy Inductor acts as short and Capacttor aots as <o

8. In the series RLC cireut, the power tactor of the cwreurt at ¢ = ¢ (Lower Froguency) and

{ =t iresonance frequency)

LAY LT ag), unity By umiy, O
(Cr o TN 7 ead), urity (Dy 0, ums

79, Two coils are connected in series with mductance vadues of ToonH aed sl The value of
mitttua] inductance 15
rAy 1 2mH By SmH (Cy 2mH (D dmH

80, In parallel RLC cireunt, if L=RH and C=2F then the value of entical resistance 1s
LAY 3 Ohions By 10OLm Oy 2 Ohmis (Dy 3 Ohms

81.  The transient free conditon in RL and RC cireuus with AC oxertation will not depend on
LA Source frequency
(Bt Tnatial phase of the excitation
(Cr o Maximum values of the excitation Veltage and Current)
D) Curcuit constantsi R, C)

82 A Unit nnpulse veltage s apphied Lo one port network. whxch hos two linear components.
It thye current through the retwork s O for r<0 and decayvs exponentially tor ¢ then the
network cansists of
(A Reswistor and Inductor in series (B) Resistor and Inductor i parallel

1Cy Reswmtor and Capacitor in parallel  (Dy Resistor and Capacitor m series

Set-| A i EC
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chosen tree. would ke

ek =3 By 2 (D 5

-
-

S A netwark consists of a large number of deal linear resistors (K)o oseries with two
constunt deal sources. Poveer consumed by R s P1 when only the first source is active and
"2 when only the second source 1s active. [ both sources are active simultaneously. the

power consumed by R s

0 ) i (By yPL£\P2
(Ct (\FL + P2 ) (D PL+ P2y
85, Choose the logxe gate fanuly which s havione oo poopesation dela
LAy TTL By MOS Wy DT 13y At
86,  An 3085 mucroprocessor based svstem tses a 2o« 5 bt RAN with o startimg address of
AAOD H. The address of the last byte i this RAM 1
(A} OFFFH (By oo H 0 BYFEFH 1y B ]

87.  How many memery 1Cs of capacity 2K » 4 are requred 1o copstruet a memaor capaains
of IS Kx87
LA (By 15 O 16 BRI IR

88.  The presemt output ¢, of an edue trivgered TR {hip-tlup s b 1 I k=1then U
1A cannot be determined (B) will be lugie ¥
1CH wdl be logie ) (D vl be race around

89, A 12-bit 13-digit) DAC that uses the BCD mput code has g full scale output of 999 V. The
valge of V' for an input of 0110 1001 U101 i«
1Ay 411V (B) 095V (Cy 738V pD) e

. The startmg address of below proarion 1= 0100 H
LXI SP.OOFF H
LXI H. 0701 H
MVIM. 20H
MVIEA 20 H

SUB M
Thie content of secumulator when the program counter reaches 110B H s
LA 200 H 1By 02 H (Cy OO (D FEH

91, AT mucro-second pulse can be converted o a | nulh-second pulse by using

LA A Mono-stable mula-vibrator (B An Astzhle multi-vibrator
(Cy A Bi-stable muaiti-vibrator (D) AJK thp-flop
Set-| A 12 E¢
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propagation defuy trom CLK o ( of each hp-flop s 24 0s7?

cAY oD NHz (Fy v MH-/

1Cr 104 MHz (I 0. MH/

The Boalean function flw,a oy = Saw 5,79 01,13, /5] 1s independent of varables
e By iCy v (1 cand

The initial sequence ol +-hit Johnson counter s 10D what waill be the segquence after third
clock pulse

LAY oo By ool (Cy LI (D) ool

The Ingic function (A+BIA" =B} can be qmplemented by orvipg the mputs A il B
o input

A1 NOR gate .
11 EX-NOR gate

: h .I".\-;]-: 1'0
Es ok oade

SN

Tlie [unction 1A,B,C.0) = N opufl 44575 (0,14 070 the number of prinwe implicants
essential prime mmplicants are

Ay Al (By 6.2 1 S T I3y R

A 4.6V 1s given as input to the counter 1vpe ADC and SAR type ADC thon the diosti!
output produced respectively

LAY 000, OO0 By (ul, Wi

(Cr o 0100, 0101 Dy 010 NN

The current gain of a BJT drops at high frequencics becasuse i

(AY Junction capactiatxes (B Bwpass capacitances
1Cr Coupling capacilances (Dy  Furasitw capacitances

Which of the tollowmg fabrication is suitable for maintammng the PN jumction area to the
reguired acouracy?!

LAY Grown junction type By Alloying

1Cr  Diffusion (D Loo-naplaniation

Moore's law relates oo

LA Speed of uperution of bipolur devices
1B Speed of operation of MOS devices
1 Power rating of MOS devices

1Dy Level of mtegration of MOS devices

The value ot transport factor i a BIT 15 effecied by

1A} Doping of emitter (By  Width of collector

1C1 Doping of base (D1 Life time of minornty carmers

A | 13 EC
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across the diodes when they are conducting i1s

LAY Y 1By 0V (Cy 06V Dy Y4y

APN junction exhibits a transition capiacitive effect of several farads 1n reverse
bius. but nay have many _ jurads oi diffusion capacitance in the forwird biased state.
(A} micre. pieo (B) pieo, imicro (O muille. mull LD il mdeen

A ampldfier has K= 2 KO und K = 20 KO and A4 = 900 The amplifier & modified to
provide 117 negative voltage feedback m senes wih nput, The values ot & and &
respectivelv arefin ohns)

A 2K and 40K (B UK anddk

1Ct 16K and 3K VI LRl DR

Class-A power amplifier delivers TOW to a load wath mput siznal power of 2iimW. The
power oain is
LAY 200 By 11 0 S0 Iy 2

Transistorhas 1, = 3001ty by, =
(ay =30 By 30 1y =5 In o 51

A cascade amphifier has higher cut off frequcney
1A} Equal to that of single stage amplificr

Bt Less than that of single stage ampliti:

1Ct More than that of single stage amplifier
I Becomes doubie

An wdeal current controdled voltage source his
1Ay R s nfmaty, K, 1s zero (BY  Riszerol B s mbinty

1Cr Ras zern, R 1s zero (D) Rismbnuy . R s rero

The carrent density of electrons threeel: any conductor carrving current 1s given by

. RET . ; - 1 = w'r e
LE R : E Uy iz e E () p= e ([ o - E

M > ] ik !

In BIT. Sensitivaty ot § tcomuzon eitler current gain) with respect to w (common base
CUTeNE giind is

1 . |
1Ay —= By 1+ iy Dy
| = 5 | ar
A ditterental amphtier has o differentiad gan of 20000 and CMRR = 8B, Common
e gain 1s
1Ay 2 By 1 (C) 0.3 (I o
A 14 E¢
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114,

114,

116,

R

118,

19,

120,

St -

W¥OIRICDL AFL VLR ELVEIL IS lll":.' Il-l"i.lI;II[}L'l.'CI S LCLIITHIEDY BN QEILRRIIET [
i | =

Ay = By h.=1-#h
- '

Ky b, =1 +4, (I b =h

Which of the fullowing is vue for 0 1ype semiconductor 7
1A) n=Ny+ P (B J"‘*-‘.|+i1:[‘I
Iy n+p=N; (I N.+n=p

1£ 10V is the peak voltage across the secondary of the ransfarmer in a halt wave rectitier
with capacitive filter, peak inverse voltsge ot the dinde will be

1y, 2% (By 1414V Y N (TE N

The condition of sustained oscillation in BIT phoase shin osallator s onen m

. R : :
Iswhere K = and R 15 colicctor rosistinee

¥

1A) he> 23+%+4E{ B hex j'l—%T.:]\'

C1 b 23+ = +29K D) hew 2= +23K

A CE amphfier has 8, =100 Qand £ = 100 € and /# =99 L =i000 k) the nput
resistance B Is given approximately by

LA E00 € (BY 10 KRQ WOy TN O (L) 1HKQ

When an electron moves through a potential Jiticrence of DN the cnerav soguired by
will be

LAY HOoules (By 16x 10 "¢V

(C1 LbAx 10 VeV (D1 10eV

Whach of the tollowing represents the Ciuscade conliguration”
1Ay CE—CE 1By CE-CB () CE=EE (D CE-EE

Condstion tor the nunimum conductivity for the semiconduc:or

i ".- : jrlr
"\l " By n=un 4 (C) n=g i (DY n=up =
i

\ 2. 4, 4,
The scaling factor of an MOS device 15 « using constant voltage scaling model. the gae
area of the device will be scaled by

LA Vo By 1/uw Yy Dy el

LAY =
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